
新东方同等学力人员申请硕士学位英语考试一 PDF转换可能

丢失图片或格式，建议阅读原文

https://www.100test.com/kao_ti2020/107/2021_2022__E6_96_B0_E

4_B8_9C_E6_96_B9_E5_c69_107324.htm 模拟考试一Paper One

试卷一 (90 minutes)Part I Listening Comprehension (20 minutes

，15points)Section ADirections: In this section, you will hear 10

short conversations. At the end of each conversation, a question will

be asked about what was said. The conversation and the question will

be spoken only once. After each question, there will be a pause.

During the pause, you must read the four choices marked A, B, C

and D, and decide which is the best answer. Then mark the

corresponding letter on the Answer Sheet with a single line through

the center.1. A. She keeps her computer at home. B. She doesn’t

need a computer. C. She doesn’t have a computer. D. She has

never used a computer.2. A. He doesn’t like the weather. B. He

prefers to walk to class. C. He should spend even more time on his

studies. D. He is too busy to take part in outdoor activities.3. A.

Having an interview. B. Filling out a form.C. Talking with his friend.

D. Asking for information.4. A. They are twins. B. They are

classmates. C. They are friends. D. They are colleagues.5. A. Because

he knew he hurt the woman’s feeling. B. Because he didn’t do

anything to save Bill. C. Because he had told a lie. D. Because he

forgot to call the woman.6. A. At a college. B. In a company.C. In a

shop. D. At an economics conference.7. A. She only concentrates on

what she’s going to say. B. She has poor hearing. C. She should

think more before talking. D. She never cares about what people say



about her.8. A. The results might be ready tomorrow. B. The man

needs another test tomorrow. C. The results arrived last night. D.

The doctor called the lab last night.9. A. He may not have enough

time to cook. B. He may spend more money on food. C. He may

put on weight if he does his own cooking. D. He may not enjoy

cooking.Section BDirections: In this section, you will hear 3 short

passages. At the end of each passage, you will hear some questions.

Both the passage and the questions will be spoken only once. After

you hear a question, you must choose the best answer from the four

choices marked, A, B, C and D. Then mark the corresponding letter

on the Answer Sheet with a single line through the center.Passage

OneQuestions 10 to 12 are based on the passage you have just heard.

10. A. The liberation movement of British women.B. Rapid

economic development in Britain.C. Changing attitudes to family

life.D. Reasons for changes in family life in Britain.11. A. Because

millions of men died in the war. B. Because women had proved their

worth. C. Because women were more skillful than men. D. Because

factories preferred to employ women.12. A. The concept of “the

family” as a social unit. B. The attitudes to birth control. C. The

attitudes to religion. D. The ideas of authority and tradition.Passage

TwoQuestions 13 to 15 are based on the passage you have just

heard.13. A. Alcohol helps develop people’s intelligence. B. Heavy

drinking is not necessarily harmful to one’s health. C. Controlled

drinking helps people keep their wits as they age. D. Drinking, even

moderately, may harm one’s health.14. A. Worried. B. Pleased. C.

Surprised. D. Unconcerned.15. A. At a conference. B. In a



newspaper. C. On television. D. In a journal. 100Test 下载频道开
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